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Grebe huppé 64 6 4 2 76 13 13 31 4] 137 50 26 16 3 6 3| 104 9 9| 129] 250
Grébe castagneux 1 9 2 12 1 1 14 6 4 2 2 14 1 1 1 3 18 31
Cigogne blanche 0 2 2 0 0 0 2
Grande Aigrette 6 18 6 29 1 1 61 5 1 2 1 70 1 1 2 0 62 72
Oie cendrée 17 17 17 0 0 17 17
Bernache du Canada 19 19 1 20| 155 7 75 18 255 0] 249 275
Oie a téte barrée 0 0 1 1 0 1 1
Cygne tuberculé 3 27 30 3 4 37 1 1 0 30 38
Tadorne de Belon 2 2 4 4 3 3 0 4 7
Canard siffleur 1 6 6 89 55 157 84 8| 249 2 2 1 2 3| 159] 254
Canard chipeau 37 37 2 27 3 69 5 4 4 13 1 1 46 83
Sarcelle d'hiver 30 26 54 208 10 4 332 11 8 30 20 9| 410 16 45 11 1 73 12 1 13| 348| 496
Canard colvert 240 | 468 | 180 | 487 | 200 60 1635 181| 198 116| 108] 100 57| 148| 2543| 1167 85 84| 174] 189 139| 1838 52| 114 36| 202| 2976| 4583
Fuligule milouin 33 11 2 1 47 2 7 2 22 80 23 7 30 0 77 110
Fuligule morillon 0 12 2 14 1 1 1 1 1 16
Harle biévre 0 0 1 1 0 0 1
Foulque macroule 137 54 2 32 43 268 31 11 16| 161 45 11| 543 118 6 24 96 3| 247 71 71| 410 861
Grue cendrée 203 203 203 0 0] 203 203
Courlis cendré 1 89 90 90 0 0 90 90
Chevalier guignette 0 1 1 1 1 0 0 2
Chevalier cul-blanc 1 1 2 1 6 10 1 5 6 0 2 16
Bécassine des marais 27 27 1 1 29 3 3 0 27 32
Chevalier aboyeur 0 1 1 0 0 0 1
Goéland leucophée 0 0 3 3 2 2 0 5
TOTAUX 515 | 592 | 255 | 1258 | 257 | 139 | 3016| 226 | 222 | 163 | 348 | 176 | 173 | 219 | 4543| 1546 | 129 | 155 | 287 | 325 | 156 | 2598| 68 198 39 305| 4849| 7446




